oM

ok

_

RS

20194 123 31X

20194

JI12t

od

lof

] 0]

o o [=] o o o o o o o o o [«] o o o o o o o
s/ 8|8|s8|s|es|38|8|e|8|8|8|8|8|8|8|8|]8]|8]|38
s (3|2 |s|c|e|g|e|e|g|e|c|g8|lg|le|cg|g|lg|g]|g]|s
) S [rs} S « [S5) [re} —
zc [Te) ol =
o o rno ro
Gl o a7 flo W | w | ®m | O
3r i - - i o | owe | oo |
= L (=< RI|IEIE[E R E || E|E|RK
n fn o D D x o m | g 5 | D D um] 0
Sl *x
= x x * x * x x x x x* b x ﬁﬂﬁ x * X
=r X * * X * * i s x
W A4 AlAlE|AlA|A 3 Al d|d]s
o = o 0
o
I+
~
5l
m
=
ro
o
)
=
ol
30
)
30
B
= _ _ _ _ _ _ _ _ _ = ol
w M s |a |3 |a|a ||| s 3l ol a |y B3|z |2
o = = = | s | 8 |s| 85| %8 = | = Al ST I A i B B
ol 30 =
0o e Bro | Do B |2 B m Do | o | Do (o ®no| ™o e o
] i = | = =l | ol | o0 | on | ool
i Ki0 ar 8 ok | B0 gk | 8C 1 8 ok | B0 B0 ok [ B0 ok | BT wok | 30wk | 0F =
= = [ = [ = = K = = =
D K gl 8|8 | 8|8 |3 & N | 2| 8 Q |w | w | w | o
ol ol = Qi N o o < < 0 © © © ~ L ~ o
3l © N ™ < 0 © ~ @ 1)

<t




710 MM ohe s EEEE 100,000
704 MR op0 2 AIEELE 10,000
725 Xl;ff Jhe! Tes HREEH 20,000
87 ‘fl”:fg e DS e NERE 4,006,000
826 x;g THel it HXEEAD 20,000
826 "l 5po s T EELE 10,000
09 |NSME sy BEex | HXEEWD 1,000,000
9.24 X';,”_; Jhe! 2 MEELE 10,000
9.25 I'%ASJ Jhel T BEELE! 20,000
10.16 x';gjf SR KB HXESAD 1,000,000
102 L= e 2 TIEELE 10,000
10.25 I;jf Jhe! s HREED 20,000
1.05 X';f? Jhe! i RS 20,000
AEC g BT 2o IR 10,000
1224 'Lt el 2o MR 10,000
12.26 I;i f Jhol e MEECE 20,000

s 7 17,060,000

2. ZHE 2N
wuil o} 2.5‘;%2% —?—%.:'I} Hl,,%;a' S 22N PR o | o =0 = =
z= | =z |zo lob@| oy cte| | o
a2z 2 | o=
6.10 | &act [ Jpel faw | FUSEM g gy 360,000
e

73 |uzas| golwel MG ﬁ“mf;m oam | sHE 50,000
73 |2nHEl gelwe H) E @Df:x” 2UE | 1o 200,000
73 | XEH | el ET émf;“' XEA |19 150,000
74 | Az | gaiwe Sar %_rmgg;m ATSHE | 20HE | 200,000
74 |uzssE| oo so | OSSN mmn | s | 4s0.000
74 | 833 | golmel B | TSN mama | | 1,000,000
75 |wms=E JHe IR @nf:m AEA | 400N 400,000




spIE2=

75 | DEA | oHel ope | EUEEA gmy | g 150,000
[=1=}
=

75 | A=A | e | FUSEN SoigEa | 0w 300,000
S** ==}
sloI2=

75 |ugEE| o mo [ FOSER Qcame | gy 200,000
[=1=]
store=

76 |uzs=E| =pwol g | POESAaat | soo | 2,000,000
(= j—
SOIS=

76 | 4% | oo o | PSS 224 | 00 | 600,000
Z=0/0018

10.11] a8 | Hel 2 o C| b)) e | 1,460,200

g A 1,180 | 7,520,200

3. 23 AL2LHEA
ZdH
=]
=t A2} Ar=sl e =2 é% NE=DIES
0=
1.11~12.31 | O=28 JEA= 2 | 10,000,000 - HLUABIZXRER23] AIHI 10,000,0008
1.15 e oY W 77,000 - WXQY DMAH| 77,0008
1.15 T BIIAA a4 30,000 - X2 HIIZA 442 30,0008
1.24 ME X F=o) 50,000 - Z=SH| 50,0002
1.29 HE X =9 30,000 - ZKH| 30,0008
2.21 HE X2 =94 50,000 - ZSH| 50,0008
3.4 ME X ZSH) 50,000 - ZSH| 50,0008
3.12 ME X2 =2 50,000 - Z=SH| 50,0008
3.19 HE X2 =24 50,000 - Z=SH| 50,0008

ozl CH2s8tE - _ _
- [=2s1= sigr=2rEs] Al 2
7.8 S0rS0hs) At 500,000 OH2301= S0t ial Albl 500,000

o = OIENAAY
8.12 NS OSKIAN 500,000 - SIDE OFEXIRAIY AT X2 500,008

NS &g

9.10 Mg X F=:UI 49,000 - =54l 49,000

11.19 CIE23ts A ZUZXA 3,000,000 - 2SO HLUEXNAANY XS 3,000,000
12.24 =393 474,320 - 128 2323 474,320&

12.30 JIEAGESH XY 600,000 - AYAEE0E JIEAYESH| 600,000

12.31 38 4,500 - RERS 4,500

1]
x

17,932,320




Er = o | Zoma [ oy Ng
= | A 22X AU INE=DS! o= g cio) =on Hl2
x103] CHest =805 | o gp .
1 617 |D108 LIESITENS ot 62 i 6l 360,000
M08 CrEsiEs0lS
3l Al 227, A=
2 76 |MEE NRNE. | 0= 119 3,100,000
NETATVHE, BEA
S 3= Nz
H108] CHREDI=BIONS | o o
3 2R Lop R SErBIE: 5007 2,000,0008!
103l CHREIISEIONS | oo o o
4 o R L Recs fie T BIES 50004 600,0008!
5 | 1014 %Ei”*é ZE00E) fogy= 63 1,460,200
7 1801 7.520,2008!
5. 223 M8
=3)|& S "zl HEHS HEH |
=8 351-0323-1057-73 ol SIDISX A (Z22)
20123 790401-01-293620 HEZU2SIIE XL (ZRZ2)
=8 351-0323-1012-13 HEZOU2IDNIESXNFHE (S22 AMY)
S8 351-0962-1661-33 22N HEH (RS2 23AHY)




